
5704196 015385 52 KG

80

POLAR®

SCREWDRIVER SET

QTY. DESCRIPTION SIZE

6	 Screwdrivers for slotted screws	 4000 3x75 - 4x100 - 5,5x125 - 6,5x150 - 8x175 - 10x200 mm
2	 Stubby screwdrivers for slotted screws	 4003 5,5x25 - 6,5x25 mm
4	 Screwdrivers for Phillips® screws	 4010 PH  0 - 1 - 2 - 3
2	 Stubby screwdrivers for Phillips® screws	 4013 PH 1 - 2
3	 Screwdrivers for Pozidriv® screws	 4020 PZ 1 - 2 - 3
2	 Stubby screwdrivers for Pozidriv® screws	 4023 PZ 1 - 2
8	 Screwdrivers for Torx® screws	 4031 TX T8 - T10 - T15 - T20 - T25 - T25 - T30 - T40
3	 Flexible hexagonal nut drivers	 4042 F 1/4” - 6 - 7 mm
1	 Magnetic bit holding screwdriver	 4043 M 1/4”

1875 S3 TOOL SET - 470 TOOLS
X-LARGE - page 56-57

SUITABLE FOR

SOCKET WRENCH SET, TORQUE WRENCH

QTY. DESCRIPTION SIZE

24	 6-point sockets	 5012 1/2” 8 - 9 - 10 - 11 - 12 - 13 - 14 - 15 - 16 - 17 - 18 - 19 - 20 -  
			     21 - 22 - 23 - 24 - 25 - 26 - 27 - 28 - 29 - 30 - 32 mm
14	 Long 6-point sockets	 5012 1/2” L 10 - 11 - 12 - 13 - 14 - 15 - 16 - 17 - 18 - 19 - 20 - 21 - 22 - 24 mm
9	 Long socket drivers for hex head screws	 5112 1/2” HL 5 - 6 - 7 - 8 - 10 - 12 - 14 - 17 - 19 mm
9	 Long socket drivers for Torx® screws	 5112 1/2” TXL T20 - T25 - T27 - T30 - T40 - T45 - T50 - T55 - T60
3	 Extensions	 5212 1/2” EX 75 - 125 - 250 mm
3	 Wobble extensions	 5212 1/2” EXW 75 - 125 - 250 mm
1	 Swivel handle	 5912 1/2” FH 410 mm
1	 Sliding T-handle	 5412 1/2” TH
1	 Ratchet, 60 teeth	 5312 1/2” E
1	 Torque-wrench	 7112 1/2” 60-340 NM
2	 Spark plug sockets	 5038 3/8” SP 16 - 21 mm

METRIC SOCKETS, SOCKET DRIVERS AND ACCESSORIES, TORQUE WRENCHES

QTY. DESCRIPTION SIZE

13	 6-point sockets	 5014 1/4” 4 - 4,5 - 5 - 5,5 - 6 - 7 - 8 - 9 - 10 - 11 - 12 - 13 - 14 mm
11	 Long 6-point sockets	 5014 1/4” L 4 - 5 - 5,5 - 6 - 7 - 8 - 9 - 10 - 11 - 12 - 13 - mm
3	 Socket drivers for slotted head screws	 5114 1/4” 4 - 5,5 - 7 mm
3	 Socket drivers for Phillips® screws	 5114 1/4” PH 1 - 2 - 3
3	 Socket drivers for Pozidriv® screws	 5114 1/4” PZ 1 - 2 - 3
6	 Socket drivers for hex head screws	 5114 1/4” H 3 - 4 - 5 - 6 - 7 - 8 mm
7	 Socket drivers for Tamper Resistant® Torx® screws	 5114 1/4” STX T10 - T15 - T20 - T25 - T27 - T30 - T40
6	 Socket for Torx® screws	 5014 1/4” NTX E4 - E5 - E6 - E7 - E8 - E10
1	 Screwdriver bit socket	 4714 1/4” x 1/4”
3	 Extensions	 5214 1/4” EX 50 - 100 - 150 mm
1	 Flexible extension	 5214 1/4” F 150 mm
1	 Adaptor	 5614 1/4” A
1	 Universal joint	 5814 1/4” U
1	 Sliding T-handle	 5414 1/4” TH
1	 Spinner handle	 5514 1/4” HD
1	 Ratchet, 60 teeth	 5314 1/4” E
17	 6-point sockets	 5038 3/8” 6 - 7 - 8 - 9 - 10 - 11 - 12 - 13 - 14 - 15 - 16 - 17 - 18 - 19 - 20 - 21 - 22 mm
14	 Long 6-point sockets	 5038 3/8” L 8 - 9 - 10 - 11 - 12 - 13 - 14 - 15 - 16 - 17 - 18 - 19 - 21 - 22 mm
3	 Extensions	 5238 3/8” EX 75 - 150 - 250 mm
3	 Wobble extensions	 5238 3/8” EXW 75 - 150 - 250 mm
1	 Adaptor	 5738 3/8” A
1	 Adaptor	 5638 3/8” A
1	 Universal joint	 5838 3/8” U
1	 Sliding T-handle	 5438 3/8” TH
1	 Ratchet, 60 teeth	 5338 3/8” E
3	 Socket drivers for slotted head screws	 5112 1/2” 8 - 10 - 12 mm
2	 Socket drivers for Phillips® screws	 5112 1/2” PH 3 - 4
2	 Socket drivers for Pozidriv® screws	 5112 1/2” PZ 3 - 4
9	 Socket drivers for hex head screws	 5112 1/2” H 5 - 6 - 7 - 8 - 10 - 12 - 14 - 17 - 19 mm
9	 Socket drivers for Torx® screws	 5112 1/2” TX T20 - T25 - T27 - T30 - T40 - T45 - T50 - T55 - T60
9	 Socket for Torx® screws	 5012 1/2” NTX E10 - E11 - E12 - E14 - E16 - E18 - E20 - E22 - E24
1	 Universal joint	 5812 1/2” U
1	 Adaptor	 5712 1/2” A
1	 Ratchet, 60 teeth	 5312 1/2” E
7	 Long bits for slotted head screws	 4614 1/4” 3 - 4 - 5 - 6 - 7 - 8 - 10 mm
3	 Long bits for Phillips® screws	 4614 1/4” ACR PH 1 - 2 - 3
3	 Long bits for Pozidriv® screws	 4614 1/4” ACR PZ 1 - 2 - 3
7	 Long bits for Tamper Resistant® Torx® screws	 4614 1/4” STX T10 - T15 - T20 - T25 - T25 - T27 - T30 - T40
1	 Torque-wrench	 7114 1/4” 4-20 Nm
1	 Torque-wrench	 7138 3/8” 20-120 Nm

470 
TOOLS

ROLLER CABINETS, ASSORTMENTS AND STORAGE

CONTENT:  (Item no. 1875-0470-1)

CONTENT:  (Item no. 1875-0470-3)CONTENT:  (Item no. 1875-0470-2)

ITEM NO. 1875-0470


